

Book Method

$$2x^2 - 12x + 13 = 0$$

$$2(x^2 - 6x) + 13$$

a.) $-6 \cdot \frac{1}{2} = -3$
 b.) $(-3)^2 = 9$

$$2(x^2 - 6x + 9) + 13 - 2 \cdot 9$$

$$2(x-3)^2 + 13 - 18$$

$$2(x-3)^2 - 5$$

Oct 2-11:30 AM

$$y = 2x^2 - 4x - 2$$

$$2x^2 - 4x - 2 = 0$$

$$2[x^2 - 2x - 1 = 0]$$

$$2[x^2 - 2x = 1]$$

a.) $-2 \cdot \frac{1}{2} = -1$
 b.) $(-1)^2 = 1$

$$2[x^2 - 2x + 1 = 1 + 1]$$

$$2[(x-1)^2 = 2]$$

$$2[(x-1)^2 - 2 = 0]$$

$$2(x-1)^2 - 4$$

Vertex: $(1, -4)$

Oct 2-11:34 AM

$$2x^2 - 4x - 2$$

$$2[x^2 - 2x - 2]$$

a.) $-2 \cdot \frac{1}{2} = -1$
 b.) $(-1)^2 = 1$

$$2[x^2 - 2x - 2 - 2 \cdot 1]$$

$$2[(x-1)^2 - 2 - 2]$$

$$2(x-1)^2 - 4$$

Vertex: $(1, -4)$

Oct 2-11:42 AM